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1. Answer/Choose the correct answer of the

following : 1x8=8

(a) Who first coined the term International
Law’?

(b) Mere discovery of land does

not constitute acquisition through

occupation. .
(Write Yes/No)
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(2)

(c) The Constitutive. Theory of Recognition
is supported by Pitt Cobbett /
Oppenheim / Wagner.

(d) Mention one immediate effect of war.

(e) The Geneva Convention took place in

the year 1949.
(Write Yes/No)

{7 e Washington Conference took place
in 1921 / 1920 / 1925.

(g9 The Atom Bomb Ban Treaty was signed
in 1963 / 1960 / 1964 / 1970.

() In which year Rio de Janeiro
Environment Summit was held?

2. Write on the following (within 150 words
each) : 4x4=16
(a) Four major sources of International Law
() Four modes of losing State territory

(c) Prize Court

(d) Four freedoms of outer space

Answer the following questions (within 500 words
each) :

3. What is International Law? How far is it

correct to Sé}f that International Law is
merely a positive morality? Discuss. 4+8=12
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(3)

Or

Discuss the relation between International
Law and Municipal Law from the viewpoint of
monistic and dualistic theories. 6+6=12

4. Describe, with examples, various modes
of acquiring State territory. 11

Or

Define recognition. Discuss various forms of
recognition of States. 24+9=11

5. Discuss the prohibited means of warfare. 11
Or

Examine the rules relating to aerial warfare.

6. What do you understand by the term
‘refugee’? State the origin and development of
law relating to Refugees under International
Law and the position in India. 2+(6+3)=11

Or

The International Law has provided certain
protections to general or civil populations
against making them targets of the war or
hostilities including terrorist activities. What
are such protections? Discuss. 11
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(4)

7. Discuss the composition and functions of
the World Trade Organization. 3+8=11

Or

Why should the ‘environmental concern’ be
part of contemporary global politics? Give
your arguments. 11
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